
SAP ABAP table JBD_STR_TJBD_VDARL_ARCH_RT {Structure f.Reading/Checking Residence Time f. Obj.LOAN_ARCH}

JBD_STR_TJBD_VDARL_ARCH_RT

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SSTATI [NUMC (2)]

SANLF [NUMC (3)]

GSART [CHAR (3)]

T000

MANDT [CLNT (3)]
 JBD_STR_TJBD_VDARL_ARCH_RT-MANDT = T000-MANDT 

1

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 JBD_STR_TJBD_VDARL_ARCH_RT-BUKRS = T001-BUKRS 

1

1 TZAF

SANLF [NUMC (3)]

 JBD_STR_TJBD_VDARL_ARCH_RT-SANLF = TZAF-SANLF 
0..N0..N

TZC37

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

GSART [CHAR (3)]

STATU [NUMC (2)]

 JBD_STR_TJBD_VDARL_ARCH_RT-SSTATI = TZC37-STATU 

0..N

1

TZPAB

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

GSART [CHAR (3)]

 JBD_STR_TJBD_VDARL_ARCH_RT-GSART = TZPAB-GSART 

0..N

1


